WeiYuan‘a,Q\;\}Lz

RIRIE & BALL NUT
%2 (TYPE) : WFE ik R PETFWEFF 2% (Stock Rollde Ball Screw Series)
0 7l
T .(0“ Holc)r 4_@)(@
S 2101 12 S
_E 1B [(0il Hole)
fu- L - f—— H -

BA7L (Unit) : mm

1:5F% Lead Da:Bkfe Ball Dia. n:BkEZ% Number of Circuits
Ca: s 5E fiff Basic Dunamic Rating Load (Kgf)
Coa: E#%iEfifif Basic Static Rating Load (Kgf)

BE TRIRLAT, IR EEEIE Dimensions
Model No. d | Da D| A E | B L X W | H Q |n Ca Coa
% | WFE1210-2 | 11.4 | 10 2 22| 44 5 [10] 30 |4.5| 32 | 26 | M6X1 | 2 250 360
% | WFE1616-2 | 15 16 3 30| 52 6 [10] 38 |5 5| 38 | 34| M6X1 | 2 630 1010
WFE2020-2 | 19.4 | 20 3.5 | 36| 60 6 | 10| 46 |5 5| 48 | 40| M6X1 | 2 910 1210
WFE2020-4 | 19.4 | 20 3.5 | 36| 60 7 10 28.5| 5.5 | 48 | 40 | M6X1 | 4| 1547 2178
WFE2525-2 | 24.1 | 25 3.5 42| 74 6 | 10| 53 6.5| 60 | 46 | M6X1 | 2 1010 1510
WFE2525-4 | 24.1 | 25 3.5 (40| 72 | 7.5| 10| 33 6.5| 58 | 45| M6X1 | 4| 1717 2718
WFE3232-2 31 32 13.969 | 50| 92 8 | 14| 66 9 74 | 54 | M6X1 [ 2| 1340 2200
WFE3232-4 32 [3.969 |50 92 | 10 | 12| 40 9 74 | 54 | M6X1 | 4| 2278 3960
WFE4040-2 | 40 40 6.35 | 68110 8 |15| 75 11 86 | 72| M8X1 | 2| 2550 4030
WFE4040-4 | 38 40 6 63| 105| 12 [ 13| 50 11 81 | 68| M8X1 |4| 3570 6045
WFE5040-2 | 48 40 6.5 | 75| 128 | 10 | 18| 81 11 [ 105 79| M8X1 | 2| 3210 5580
WFE5050-4 | 48 50 6.35 | 75| 128 | 26 | 18| 87 11 [ 105 79| M8X1 | 4| 4744 6320

FvE: AR AL T H AT AR e TR AL Note:with sign % can produce left helix

Http://WWW.Wy-SZ.CO'TI ﬁeﬂlh:nﬁ Wﬁyt‘fn Eeﬁio?ﬁﬁmoﬁlog?cf L?d-. Page 1 4



